Annales scientifiques de l'É.N.S.

LINDA PREISS ROTHSCHILD DAVID S. TARTAKOFF

Analyticity of relative fundamental solutions and projections for left invariant operators on the Heisenberg group

Annales scientifiques de l'É.N.S. 4^e série, tome 15, n° 3 (1982), p. 419-440 http://www.numdam.org/item?id=ASENS 1982 4 15 3 419 0>

© Gauthier-Villars (Éditions scientifiques et médicales Elsevier), 1982, tous droits réservés.

L'accès aux archives de la revue « Annales scientifiques de l'É.N.S. » (http://www.elsevier.com/locate/ansens) implique l'accord avec les conditions générales d'utilisation (http://www.numdam.org/conditions). Toute utilisation commerciale ou impression systématique est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.



Article numérisé dans le cadre du programme Numérisation de documents anciens mathématiques http://www.numdam.org/

ANALYTICITY OF RELATIVE FUNDAMENTAL SOLUTIONS AND PROJECTIONS FOR LEFT INVARIANT OPERATORS ON THE HEISENBERG GROUP

By Linda Preiss ROTHSCHILD (1) and David S. TARTAKOFF (2)

1. Introduction

We show that for certain classes of unsolvable, non-hypoelliptic differential operators on the Heisenberg group there exist left (respectively right) inverses modulo the orthogonal projection onto the L^2 nullspace of the operator (resp. the adjoint of the operator). We also show that these relative inverses and the projections preserve analyticity locally.

Let G be the Heisenberg group and let X_1, X_2, \ldots, X_{2n} , T be a basis for the Lie algebra $\mathscr{G} = \mathscr{G}_1 + \mathscr{G}_2$ of G with X_1, X_2, \ldots, X_{2n} a basis of $\mathscr{G}_1, \mathscr{G}_2$ spanned by (T) and $[\mathscr{G}_1, \mathscr{G}_1] = \mathscr{G}_2 =$ the center of \mathscr{G} . A left invariant differential operator L on G is said to be homogeneous of degree d if there is a homogeneous non-commutative polynomial p such that $L = p(X_1, X_2, \ldots, X_{2n})$. L is elliptic in the generating directions if $p(\partial/\partial x_1, \partial/\partial x_2, \ldots, \partial/\partial x_{2n})$ is elliptic on \mathbb{R}^{2n} .

Our main result is the following.

(1.1) THEOREM. — Let L be a homogeneous, left invariant differential operator on the Heisenberg group G elliptic in the generating directions. Then there are distributions k_1 and k_2 such that:

$$(1.2) L f * k_1 = f - \Pi_1 f$$

(1.3)
$$L(f * k_2) = f - \Pi_2 f$$

for $f \in C_0^{\infty}(G)$, where Π_1 and Π_2 are orthogonal projections onto the L^2 nullspaces of L and L^* respectively, and * denotes group convolution. Furthermore, the operators $f \to f * k_i$ and $f \to \Pi_i f$, i = 1, 2, all preserve analyticity locally.

⁽¹⁾ The first author was partially supported under NSF Grant No. MCS 78-07647

⁽²⁾ The second author under MCS 79-03147.

COROLLARY. – If $u, f \in C_0^{\infty}(G)$ and:

$$(1.4) Lu = f in U,$$

U open, then $u_1 = (I - \Pi_1)$ u is analytic in every open subset of U where f is, and u_1 is again a solution of (1, 4).

Proof. – If $K v = v * k_1$, then:

$$(I - \Pi_1) u = K f + K (L u - f).$$

By Theorem 1.1, the right hand side is analytic in U.

Theorem 1.1 was proved by Greiner, Kohn and Stein [4] for the case where $L = \Box_b$, the boundary Laplace operator. The analyticity of the projections Π_1 and Π_2 was proved by Geller [2], who also proved the existence of distributions k'_1 , k'_2 satisfying (1.2) and (1.3) and preserving local smoothness. The general result was conjectured by Stein [2]. For the general case, Métivier, by the methods in [11], obtained a proof (unpublished). However, our method is a direct reduction to the hypoelliptic case.

A differential operator D is called C^{∞} hypoelliptic (resp. analytic hypoelliptic) in U if Du = f in U with f smooth (resp. analytic) in any open subset $V \subset U$ implies u is smooth in V (resp. u is analytic in V if u is smooth in V). Tartakoff [16], [17] and Trèves [18] have shown that for homogeneous left invariant differential operators on the Heisenberg group, analytic hypoellipticity is implied by C^{∞} hypoellipticity. For C^{∞} hypoellipticity, necessary and sufficient conditions for operators of the above type on groups with dilations have been given by Rockland [14] and Helffer and Nourrigat [6].

2. The self adjoint case

One can easily reduce the proof of Theorem 1.1 to the case where L is self adjoint and of large homogeneous degree d, with d/2 even. Indeed, suppose the result is known for $(L^*L)^n = L_1$ and $(LL^*)^n = L_2$. Then there exists k'_2 such that:

(2.1)
$$L_2(f * k_2') = f - \Pi_2 f,$$

since ker $L_2 = \ker L^*$. Since for any left invariant vector field X we have X(f * k) = f * X k, from (2.1):

$$L(f * L^*(LL^*)^{n-1} k_2) = f - \Pi_2 f$$

so that (1.3) follows with $k_2 = L^*(LL^*)^{n-1}k_2'$. Furthermore, if convolution with k_2' preserves local analyticity, so does convolution with k_2 . (1.2) is obtained similarly from L_1 .

Theorem 1.1 is then a consequence of the following, which is partly based on an idea of Beals and Greiner [1].

$$4^{e}$$
 série – tome 15 – 1982 – n^{o} 3

(2.2) THEOREM. — Let L be a self adjoint operator satisfying the hypotheses of Theorem 1.1 and of sufficiently high degree divisible by 4. Then there is a closed contour Γ around 0 in $\mathbb C$ such that $L_{\alpha} = L - \alpha (-i T)^{d/2}$ is hypoelliptic for all $\alpha \in \Gamma$. There exist distributions k_{α} satisfying $L_{\alpha} k_{\alpha} = \delta$, with $\alpha \to \|\mathbf{D}^{\beta}(f * k_{\alpha})\|_{L_{\infty}}$ bounded on Γ for all multi-indices and any $f \in C_0^{\infty}(G)$. Hence define:

$$K, S: C_0^{\infty}(G) \rightarrow C^{\infty}(G)$$

by:

$$\mathbf{K} f = \frac{1}{2\pi i} \int_{\Gamma} \alpha^{-1} f * k_{\alpha} d\alpha,$$

$$Sf = \frac{1}{2\pi i} \int_{\Gamma} (-i T)^{d/2} f * k_{\alpha} d\alpha.$$

Then:

(2.3)
$$LK f = K^* L f = f - S f, \qquad f \in C_0^{\infty}(G),$$

and $S = \Pi$, the orthogonal projection onto the L^2 kernel of L. Furthermore, K and Π preserve local analyticity.

The proof of Theorem 2.2 will proceed as follows. First, one must construct the k_{α} . For this we use the construction given by Métivier [11] for a single operator and check that the k_{α} vary well with α . The first equality in (2.3) is an immediate consequence of the self adjointness of L and Π , while the second is easily obtained by writing $L = L_{\alpha} + \alpha (-iT)^{d/2}$. The proof that $S = \Pi$ will be obtained by applying the irreducible unitary representations of G to both operators and then using the Plancherel theorem for G.

Finally, to prove that K and S preserve analyticity, it suffices to obtain local estimates for derivatives of f_*k_α independent of α . For this we use the methods of the second author [16], checking that the constants obtained in the L² estimates can be chosen independent of α .

3. Unitary representations and the Plancherel formula for G

We summarize some facts about the irreducible unitary representations of G which will be used in the construction of k_{α} and in the proof that $S = \Pi$. Let X_i' , X_i'' , i = 1, 2, ..., n, T be a basis for $\mathscr G$ with $[X_i', X_j''] = \delta_{ij} T$, all other commutators zero. For every $\lambda \in \mathbb{R} - \{0\}$, let π_{λ} be the irreducible unitary representation of G on $L^2(\mathbb{R}^n)$ defined by:

(3.1)
$$\pi_{\lambda}(x', x'', t) f(u) = e^{i((\operatorname{sgn}_{\lambda})|\lambda|^{1/2}x'' \cdot u + \lambda t + \lambda x' \cdot x''/2)} f(u - |\lambda|^{1/2} x').$$

Here (x', x'', t) are the coordinates given by:

$$(x', x'', t) \leftrightarrow \exp(x' \cdot X' + x'' \cdot X'' + t T),$$

where $x' \cdot X' = \sum_{i=1}^{n} x'_i X'_i$ and exp denotes the exponential map.

These induce the following on \mathcal{G} :

$$\pi_{\lambda}(T) = i \lambda,$$

$$\pi_{\lambda}(X'_{j}) = |\lambda|^{1/2} \frac{\partial}{\partial u_{j}},$$

$$\pi_{\lambda}(X''_{j}) = i \operatorname{sgn} \lambda |\lambda|^{1/2} u_{j}.$$

If $\varphi \in C_0^{\infty}(G)$, let $\pi_{\lambda}(\varphi)$ be the bounded operator on $L^2(\mathbb{R}^n)$ given by:

$$\pi_{\lambda}(\varphi) = \int \varphi(g) \, \pi_{\lambda}(g^{-1}) \, du(g),$$

where du(g) = dx' dx'' dt is a Haar measure on G. If $L \in U(\mathcal{G})$, the universal enveloping algebra of \mathcal{G} , then:

(3.2)
$$\pi_{\lambda}(L \varphi) = \pi_{\lambda}(L) \pi_{\lambda}(\varphi),$$

where:

$$\pi_{\lambda} : \mathscr{G} \to \operatorname{End}(L^{2}(\mathbb{R}^{n}))$$

is the corresponding representation of \mathcal{G} .

It will be useful to know the distribution kernel $a_{\varphi,\lambda}(u, v)$ of the operator $\pi_{\lambda}(\varphi)$. By direct calculation, for $f \in L^2(\mathbb{R}^n)$:

$$\pi_{\lambda}(\varphi) f(u) = \int \varphi(x', x'', t) e^{-i(y_{\lambda} \cdot u + x_{\lambda} \cdot y_{\lambda}/2 + \lambda t)} f(u - x_{\lambda}) dx' dx'' dt$$

where $x_{\lambda} = |\lambda|^{1/2} x'$ and $y_{\lambda} = (\operatorname{sgn} \lambda) |\lambda|^{1/2} x''$. Since $dx' dx'' = (\operatorname{sgn} \lambda) |\lambda|^{-n} dx_{\lambda} dy_{\lambda}$:

$$\pi_{\lambda}(\varphi) f(u) = |\lambda|^{-n} \int \varphi_{\lambda}(x_{\lambda}, y_{\lambda}, t) e^{-i(y_{\lambda} \cdot u - x_{\lambda} \cdot y_{\lambda}/2 + \lambda t)} f(u - x_{\lambda}) dx_{\lambda} dy_{\lambda} dt$$

where:

$$\varphi_{\lambda}(x_{\lambda}, y_{\lambda}, t) = \varphi(x', x'', t).$$

Hence a simple change of variables shows that:

(3.3)
$$a_{\varphi, \lambda}(u, v) = |\lambda|^{-n} \varphi_{\lambda} \hat{u}(u, v) = |\lambda|^{$$

where $\hat{\epsilon}$ denotes the Euclidean Fourier transform of ϕ_{λ} in the last two sets of variables. The reader is referred to Métivier [11] for a more detailed account of the above calculation for a more general class of groups.

We shall need two versions of the Plancherel theorem for G. The first is the following equality for $\varphi \in C_0^{\infty}(G)$:

(3.4)
$$\varphi(0) = \int_{\mathbb{R}^{-\{0\}}} \operatorname{tr}(\pi_{\lambda}(\varphi)) d\mu(\lambda),$$

where $d\mu(\lambda) = c |\lambda|^n d\lambda$, c constant, and tr denotes trace. The second version of the Plancherel theorem states that π_{λ} extends to a Hilbert space isomorphism:

$$\pi_{\lambda}$$
: $L^{2}(G) \to L^{2}(\mathbb{R} - \{0\}, H - S)$,

where $L^2(\mathbb{R}-\{0\}, H-S)$ is the space of all functions F from $\mathbb{R}-\{0\}$ to the space H-S of all Hilbert-Schmidt operators on $L^2(\mathbb{R}^n)$ satisfying:

$$\int_{\mathbb{R}^{-}\{0\}} \operatorname{tr}(F(\lambda) F(\lambda)^*) d\lambda < \infty.$$

The norm is:

$$\|F(\lambda)\|_{L^{2}(\mathbb{R}-\{0\},H-S)}^{2} = \int_{\mathbb{R}-\langle 0\rangle} \operatorname{tr}(F(\lambda)F(\lambda)^{*}) d\mu'(\lambda),$$

where $d\mu'(\lambda) = c' |\lambda|^n d\lambda$, where c' is a constant. In particular, for $f, g \in L^2(G)$;

(3.5)
$$(f,g)_{L^2} = \int_{\mathbb{R}^{-\{0\}}} \operatorname{tr}(\pi_{\lambda}(f) \pi_{\lambda}(g)^*) d\mu'(\lambda).$$

The reader is referred to Kirillov [8] or Pukanszky [13] for a complete account of the Plancherel theorem for nilpotent groups.

4. Construction of the fundamental solutions k_{α} of L_{α}

(4.1) Lemma. — Let L be as in Theorem 2.2, and let $L_{\alpha} = L - \alpha (-i T)^{d/2}$. Then if $\epsilon > 0$ is sufficiently small, L_{α} is hypoelliptic for all α , $\epsilon \leq |\alpha| \leq 2\epsilon$.

Proof. – By Rockland [14], L_{α} is hypoelliptic if and only if $\pi_1(L_{\alpha})$ and $\pi_{-1}(L_{\alpha})$ are injective on the Schwartz space $\mathscr{S}(\mathbb{R}^n)$. Now:

$$\pi_{\pm 1}(L_{\alpha}) = \pi_{\pm 1}(L) \pm \alpha.$$

By Grušin [5], the eigenvalues of $\pi_{\pm 1}(L)$ are discrete, and so if:

$$\mu = \min_{\substack{\sigma \text{ eigenvalue of } \pi_{\pm 1}(L) \\ \sigma \neq 0}} |\sigma|,$$

then any $\varepsilon < \mu/2$ will satisfy the lemma.

A family σ_{α} of distributions on a manifold M will be called *uniformly bounded* if for every compact set $K \subset M$ there exist C and M independent of α such that:

$$|\sigma_{\alpha}(\varphi)| \leq C \sup_{\beta_1 \leq M} |D^{\beta}\varphi(x)|$$

for all $\phi \in C_0^\infty(K)$. Our proof of analyticity requires that the k_α be uniformly bounded.

(4.2) Proposition. — Let $\varepsilon > 0$ be chosen as in Lemma 4.1. If d is sufficiently large and d/2 even, there is a uniformly bounded family of fundamental solutions k_{α} , $L_{\alpha}k_{\alpha} = \delta$, all $\alpha \in \mathbb{C}$, $\varepsilon \leq |\alpha| \leq 2\varepsilon$, such that $S_{\alpha} : C^{\infty}(G) \to C^{\infty}(G)$ defined by:

$$S_{\alpha} \varphi = (-i T)^{d/2} (\varphi \star k_{\alpha}),$$

extends to a bounded mapping of L2(G) into itself satisfying the following:

C independent of a, and

$$\pi_{\lambda}\left(S_{\alpha}\;\phi\right) = \left\{ \begin{array}{ll} \pi_{1}\left(L_{\alpha}\right)^{-1}\pi_{\lambda}\left(\phi\right), & \lambda > 0 \\ \pi_{-1}\left(L_{\alpha}\right)^{-1}\pi_{\lambda}\left(\phi\right), & \lambda < 0 \end{array} \right.$$

for almost all $\lambda \in \mathbb{R} - \{0\}$.

To prove Proposition 4.2 we shall follow a similar construction in Métivier [11] (where one of the ideas is attributed to Lion [9]), keeping track of the dependence on α . We let $B_{\epsilon} = \{\alpha \in \mathbb{C} : \epsilon \leq |\alpha| \leq 2\epsilon\}$.

(4.5) Lemma. — For $\alpha \in \mathbf{B}_{\epsilon}$, let $\mathbf{I}_{\lambda,\alpha}(u,v)$ be the distribution kernel of the operator $\pi_{\lambda}(\mathbf{L}_{\alpha})^{-1}: \mathbf{L}^{2}(\mathbb{R}^{n}) \to \mathbf{L}^{2}(\mathbb{R}^{n})$. Then if d is sufficiently large $\mathbf{I}_{\lambda,\alpha}$ is continuous and satisfies, for n/2 < k < d-n/2;

$$(4.6) |I_{\varepsilon_{\lambda}, \alpha}(v, u)| \leq C_{\lambda} (1+|v|)^{n/2-d+k} (1+|u|)^{n/2-k}$$

for some constant C independent of $\alpha \in B_{\epsilon}$, where $\epsilon_{\lambda} = (-1)^{\operatorname{sgn} \lambda}$.

$$4^{e}$$
 série – tome 15 – 1982 – n^{o} 3

Proof. – The estimate (4.6) is given in [11] for α fixed in B_s. Let

$$\mathbf{H}^{k} = \{ f \in \mathbf{L}^{2}(\mathbb{R}^{n}) \colon u^{\beta} \, \mathbf{D}_{u}^{\gamma} \, f \in \mathbf{L}^{2}, \quad \text{all} \quad |\beta| + |\gamma| \leq k \}$$

with norm $||f||_{H^1}^2 = \sum_{|\beta|+|\gamma| \le k} ||u^{\beta} D_u^{\gamma} f||_{L^2}^2$, and let H^{-k} be the dual space. By Grušin [5], each $\pi_{\pm 1}(L_2)^{-1}$ is bounded from L^2 to H^d i. e., there exists C' such that:

(4.7)
$$|| f ||_{H^{d}} \leq C' || \pi_{\pm 1}(L_{\alpha}) f ||_{L^{2}}$$

with C' dependent on α . An easy perturbation argument (see [15], for details) shows that one can choose C' independent of α for α varying in B_{ϵ} . From (4.7) one obtains for each j

$$\|f\|_{\mathbf{H}_{j}} \le C_{0} \|\pi_{\pm 1}(\mathbf{L}_{\alpha})^{-1} f\|_{\mathbf{H}^{\mathbf{d}+j}}$$

for all $j \in \mathbb{Z}$, as in [11], Lemma 12.

Now the proof is exactly as given in [11].

Proof of Proposition 4.2. — We shall follow the construction given in [11] for a more general class of groups. Put $\check{\phi}(g) = \phi(g^{-1})$, $\phi \in C_0^{\infty}(G)$. First

$$\operatorname{tr}(\pi_{\lambda}(L_{\alpha})^{-1}\pi_{\lambda}(\check{\varphi})) = \int I_{\lambda, \alpha}(v, u) \alpha_{\check{\varphi} \cdot \lambda}(u, v) dv du,$$

for $\alpha \in B_{\epsilon}$, where $a_{\check{\phi}, \lambda}(u, v)$ is the kernel of $\pi_{\lambda}(\check{\phi})$, which by (3.3) is given by

(4.8)
$$a_{\check{n},\lambda}(u,v) = |\lambda|^{-n} (\varphi_{\lambda})^{\hat{n}} (v-u, -(u+v)/2, -\lambda).$$

Putting

$$J_{\lambda,\alpha}(u,v) = \int e^{-iv \cdot \xi} I_{\lambda,\alpha}\left(\frac{u}{2} - \xi, -\frac{u}{2} - \xi\right) d\xi$$

we obtain

$$\operatorname{tr}(\pi_{\lambda}(L_{\alpha})^{-1}\pi_{\lambda}(\check{\varphi})) = |\lambda|^{-n} \int J_{\lambda,\alpha}(u,v) \, \varphi_{\lambda}(u,v,-\lambda) \, du \, dv,$$

where $\varphi_{\hat{\lambda}}$ denotes the Fourier transform in the t variable. Finally, let $u_{\lambda} = |\lambda|^{-1/2} u$, $v_{\lambda} = (\operatorname{sgn} \lambda) |\lambda|^{-1/2} v$, $u^{\lambda} = |\lambda|^{1/2} u$, $v^{\lambda} = (\operatorname{sgn} \lambda) |\lambda|^{1/2} v$ and put

$$K_{\lambda,\alpha}(u_{\lambda}, v_{\lambda}) = J_{\lambda,\alpha}(u, v).$$

In view of (3.2) and (3.4) we want to estimate tr $(\pi_{\lambda}(L_{\alpha})^{-1}\pi_{\lambda}(\tilde{\phi}))$. By the above we have

$$\operatorname{tr}(\pi_{\lambda}(L_{\alpha})^{-1}\pi_{\lambda}(\check{\varphi})) = \int K_{\lambda, \alpha}(u_{\lambda}, v_{\lambda}) \, \hat{\varphi}(u_{\lambda}, v_{\lambda}, -\lambda) \, du_{\lambda} \, dv_{\lambda}$$

by the definition of φ_{λ} . It is easy to check that

$$K_{\lambda,\alpha}(u, v) = |\lambda|^{-d/2} K_{\epsilon,\alpha}(u^{\lambda}, v^{\lambda}).$$

We shall need to show.

$$(4.9) |K_{\varepsilon_{\lambda}, \alpha}(u^{\lambda}, v^{\lambda})| \leq C,$$

all $\alpha \in B_{\varepsilon}$, u, v. By definition

$$\mathbf{K}_{\varepsilon_{\lambda},\,\alpha}(u^{\lambda},\,v^{\lambda}) = \mathbf{J}_{\varepsilon_{\lambda},\,\alpha}(u^{\lambda},\,\pm v^{\lambda}) = \int e^{\mp iv^{\lambda}\xi} \,\mathbf{I}_{\varepsilon_{\lambda},\,\alpha}\left(\frac{u^{\lambda}}{2} - \xi,\,\frac{-u^{\lambda}}{2} - \xi\right) d\xi.$$

Hence by (4.6)

$$(4.10) |K_{\varepsilon_{\lambda}, \alpha}(u^{\lambda}, v^{\lambda})| \leq C_{0} \sup (1 + |\xi|)^{n+1} \left(1 + \left|\frac{u^{\lambda}}{2} - \xi\right|\right)^{n/2 - d + k} \left(1 + \left|-\frac{u^{\lambda}}{2} - \xi\right|\right)^{n/2 - k}$$

for n/2 < k < d-n/2. Choose k to be the smallest integer larger than (3n/2)+1. Then for d > 3n+4, k is in the range n/2 < k < d-n/2. Now for any $a \in \mathbb{R}$

$$(4.11) (1+|\xi|) \le \sup((1+|a-\xi|), (1+|-a-\xi|)).$$

Then (4.11), together with (4.10), proves (4.9).

Hence, if $\chi(u, v, \lambda) \in \mathcal{S}(\mathbb{R}^{2n+1})$, with $\chi(u, v, \lambda)$ vanishing in λ to order at least d/2-n at $\lambda=0$, the integral

$$\int |K_{\lambda,\alpha}(u,v)| |\chi(u,v,\lambda)| du dv d\lambda$$

exists and is bounded, independent of $\alpha \in B_{\epsilon}$.

To handle the singularity near $\lambda=0$ we proceed as in [11]. Let $\psi\in C_0^\infty(\mathbb{R})$ be chosen with

$$\psi(\lambda) = \begin{cases} 1 & \text{for } |\lambda| \leq 1/2, \\ 0 & \text{for } |\lambda| \geq 1. \end{cases}$$

Let $\mathcal{X}: \mathcal{S}(\mathbb{R}) \to \mathcal{S}(\mathbb{R})$ be defined by

$$\mathscr{X}f(\lambda) = f(\lambda) - \psi(\lambda) \sum_{k \leq (d/2) - n} \frac{\lambda^k}{k!} \left(\frac{\partial}{\partial \lambda}\right)^k f(0).$$

Then

$$\mathscr{X}f(\lambda) = f(\lambda)$$
 for $|\lambda| \ge 1$,

 4^{e} série — томе 15 — 1982 — 1000 м o 3

and

$$\mathcal{X} f(\lambda)$$
 vanishes to order $d/2 - n$ at $\lambda = 0$.

Now define $k_{\alpha, 1}$ by:

$$k_{\alpha, 1}(\varphi) = c \int K_{\lambda, \alpha}(u, v, \lambda) \mathscr{X} \varphi^{\hat{}}(u, v, -\lambda) |\lambda|^n du dv d\lambda,$$

with c as in (3.4). Then $k_{\alpha,1}$ is a uniformly bounded family of distributions for $\alpha \in B_{\epsilon}$.

We will now construct a uniformly bounded family $k_{\alpha, 2}$ of distributions such that $k_{\alpha, 1} + k_{\alpha, 2}$ is a fundamental solution for L_{α} , i. e.,

$$L_{\alpha}(k_{\alpha,1}+k_{\alpha,2})=\delta.$$

For this, let r_{α} be the distribution defined by

$$-r_{\alpha}=L_{\alpha}k_{\alpha,1}-\delta.$$

Clearly r_{α} is a uniformly bounded family, and we must find $k_{\alpha,2}$ satisfying

$$L_{\alpha} k_{\alpha, 2} = r_{\alpha}$$

As in [11] we note that since $T^s r_{\alpha} = 0$ for $s \ge d/2 - n$ we may write r_{α} in the form:

$$r_{\alpha} = \sum_{\substack{|j| \leq d/2-n}} r_{\alpha, j}(x', x'') t^{j}$$

where $r_{\alpha, j}(x', x'')$ is a uniformly bounded family of distributions on \mathbb{R}^{2n} . Let L^0 be the constant coefficient differential operator elliptic in \mathbb{R}^{2n} , corresponding to the principal symbol at 0 (in the classical sense) of L_{α} [i. e., $L^0 = p(\partial/\partial x'_1, \ldots, \partial/\partial x'_n, \partial/\partial x''_1, \ldots, \partial/\partial x''_n)$. See the definition of "elliptic in the generating directions" on the first page. Note that L^0 is independent of α , since the parameter occurs as a coefficient of a term of lower degree.] Now we may seek to find $k_{\alpha, 2}$ in the form

$$k_{\alpha, 2} = \sum_{j \leq d/2-n} W_{\alpha, j}(x', x'') t^{j}.$$

The $W_{\alpha,j}$ may be found by downward recursion by writing

$$L = L^{0} + \sum_{0 < j \leq d} L_{\alpha, j} \frac{\partial^{j}}{\partial t^{j}}$$

and solving recursively for $W_{\alpha, i}$ satisfying

(4.12)
$$L^{0} W_{\alpha, j}(x', x'') + \sum_{k > j} L_{\alpha, k} \frac{(j+k)!}{j!} W_{\alpha, j+k} = r_{\alpha, j}.$$

with the convention that $W_{\alpha, j+k} = 0$ for j+k > d/2-n. We must still show that (4.12) can be solved with $W_{\alpha, j}$ a uniformly bounded family. For this we use the following modification of [7], Theorem 3.6.4.

(4.13) Lemma. — Suppose that $\{f_{\alpha}\}$ is a uniformly bounded family of distributions on an open set $\Omega \subset \mathbb{R}^{N}$ which is strongly convex for the constant coefficient differential operator P(D). Then there exists a uniformly bounded family u_{α} on Ω such that

$$P(D) u_{\alpha} = f_{\alpha}$$
.

The proof of Lemma 4.13 is an easy modification of [7], Theorem 3.6.4, where the result is proved for fixed α .

Now we may complete the proof of Proposition 4.2 by verifying (4.3) and (4.4). For this, note that since T is bi-invariant, $(-iT)^{d/2}(\phi * k_{\alpha}) = ((-iT)^{d/2}\phi) * k_{\alpha}$. One easily sees by the definition of $k_{\alpha,2}$ that $((-iT)^{d/2}\phi) * k_{\alpha,2} = 0$. Hence

$$S_{\alpha} \varphi = (-i T)^{d/2} (\varphi * k_{\alpha, 1}).$$

Now

$$\begin{split} \pi_{\lambda}(S_{\alpha}\,\phi) &= \pi_{\lambda}((-i\,T)^{d/2}\,\phi \star k_{\alpha,\,1}) = \pi_{\lambda}(L_{\alpha})^{-1}\,\pi_{\lambda}(-i\,T)^{d/2}\,\pi_{\lambda}(\phi) \\ &= \lambda^{d/2}\,|\,\lambda\,|^{-d/2'}\pi_{\epsilon_{\lambda}}(L_{\alpha})^{-1}\,\pi_{\lambda}(\phi) = \pi_{\epsilon_{\lambda}}(L_{\alpha})^{-1}\,\pi_{\lambda}(\phi), \qquad \text{since } d/2 \text{ is even,} \end{split}$$

which proves (4.4).

To prove (4.3) it suffices, by (4.4) and the Plancherel Theorem (3.5), to show that

$$\| \, \pi_{\epsilon_{\lambda}}(L_{\alpha})^{\,-\,1} \, \pi_{\lambda}\left(\phi\right) \|_{H\,-\,S} \leqq C' \, \| \, \pi_{\lambda}\left(\phi\right) \|_{H\,-\,S},$$

where H-S denotes the Hilbert Schmidt norm. This follows immediately since $\pi_{\pm 1}(L_{\alpha})^{-1}$ is bounded on L². This completes the proof of Proposition 4.2.

5. Proof that $S = \Pi$.

(5.1) Proposition. — Let k_{α} be defined as in Proposition 4.2. Then the operator:

$$S f = (2\pi i)^{-1} \int_{\Gamma} (-iT)^{d/2} (f * k_{\alpha}) d\alpha, \qquad f \in C_0^{\infty}(G)$$

extends to a bounded operator on L^2 and $S = \Pi$, the orthogonal projection onto the nullspace of L.

The proof of Proposition 5.1 requires some preliminaries.

(5.2) Lemma. – For almost all $\lambda \in \mathbb{R} - \{0\}$, for all $f \in C_0^{\infty}(G)$,

$$\pi_{\lambda}(\Pi f) = P_{\varepsilon_{\lambda}} \pi_{\lambda}(f)$$

where $P_{\varepsilon_{\lambda}}$ is the orthogonal projection onto the nullspace of $\pi_{\varepsilon_{\lambda}}(L)$.

$$4^{e}$$
 série – tome 15 – 1982 – $n^{o}3$

Proof. – This is very similar to Goodman [3]. First, it is clear that

$$\operatorname{Im} \pi_{\lambda}(\Pi f) \subset \ker \pi_{\lambda}(L) = \ker \pi_{\varepsilon_{\lambda}}(L).$$

Furthermore, if $h \in \ker L$, then $\operatorname{Im} \pi_{\lambda}(h) \subset \ker \pi_{\lambda}(L)$ and hence $\pi_{\lambda}(h) = \operatorname{P}_{\varepsilon_{\lambda}} \pi_{\lambda}(h)$. Hence it suffices to show that if $g \perp \ker L$, then $\operatorname{Im} \pi_{\lambda}(g) \subset (\ker \pi_{\lambda}(L))^{\perp}$.

Now if $g \perp \ker L$, then by the Plancherel formula (3.5),

(5.3)
$$\int \operatorname{tr}(\pi_{\lambda}(f)\pi_{\lambda}(g)^{*}) d\mu(\lambda) = 0$$

for all $f \in \ker L$. Let $\{\phi_j\}$ be an orthonormal basis of $L^2(\mathbb{R}^n)$ such that $\phi_1, \phi_2, \ldots, \phi_N$ is a basis of $\ker \pi_{+1}(L)$ (which is of finite dimension by Grušin [5]), and $\phi_{N+1}, \phi_{N+2}, \ldots$ is a basis of $(\ker \pi_{+1}(L))$. Then

(5.4)
$$\operatorname{tr}(\pi_{\lambda}(f)\pi_{\lambda}(g)^{*}) = \sum_{i=1}^{\infty} (\pi_{\lambda}(f)\varphi_{i}, \, \pi_{\lambda}(g)\varphi_{i})$$

for any $f \in L^2(G)$. Let the indices i and j be fixed with $1 \le j \le N$ and let $c(\lambda) \in L^1(\mathbb{R}^1 - \{0\}, d\mu(\lambda))$ be arbitrary with support in \mathbb{R}^+ . Then by the second version of the Plancherel formula define $h_{ij} \in L^2(G)$ by

$$\pi_{\lambda}(h_{ij}) \varphi_{k} = \begin{cases} c(\lambda) \delta_{ik} \varphi_{j}, & 1 \leq i \leq N, \\ 0, & i > N. \end{cases}$$

Then

$$\operatorname{tr}(\pi_{\lambda}(h_{ij})\pi_{\lambda}(g^*)) = \sum_{k} (\pi_{\lambda}(h_{ij})\varphi_k, \, \pi_{\lambda}(g)\varphi_k) = c(\lambda)(\varphi_j, \, \pi_{\lambda}(g)\varphi_i).$$

By (5.3), since $h_{ij} \in \ker L$

$$\int c(\lambda)(\varphi_j, \, \pi_\lambda(g)\,\varphi_i)\,du(\lambda) = 0.$$

Since $c(\lambda)$ is arbitrary with support in \mathbb{R}^+ , $(\varphi_i, \pi_{\lambda}(g)\varphi_i) = 0$ for almost all $\lambda > 0$, all i. The proof for $\lambda < 0$ is the same, obtained by using a basis adapted to the decomposition $\ker \pi_{-1}(L) + (\ker \pi_{-1}(L))^{\perp}$. Hence $\pi_{\lambda}(g)\varphi_i \perp \ker \pi_{\lambda}(L)$ as claimed.

From now on, Γ will denote a fixed simple contour in \mathbb{C} lying in B_{ϵ} .

(5.5) LEMMA.
$$-\pi_{\lambda}\left(\int_{\Gamma} S_{\alpha} f d\alpha\right) = \int_{\Gamma} \pi_{\lambda}(S_{\alpha} f) d\alpha$$
 for almost all $\lambda \in \mathbb{R} - \{0\}$.

Proof. – Suppose $g \in L^2(G)$. Then by the Plancherel Theorem (3.5)

$$\left(\int_{\Gamma} S_{\alpha} f d\alpha, g\right) = \int_{\mathbb{R}^{-1}(0)} \operatorname{tr}\left(\pi_{\lambda} \left(\int_{\Gamma} S_{\alpha} f d\alpha\right) \pi_{\lambda} (g)^{*}\right) d\mu(\lambda).$$

Now let $\{\varphi_i\}$ be an orthonormal basis for $L^2(\mathbb{R}^n)$. Then

(5.6)
$$\int \operatorname{tr}\left(\int_{\Gamma} \pi_{\lambda}(S_{\alpha}f) d\alpha \, \pi_{\lambda}(g)^{*}\right) d\mu(\lambda) = \int \sum_{i} \left(\int_{\Gamma} \pi_{\lambda}(S_{\alpha}f) d\alpha \, (\pi_{\lambda}(g))^{*} \, \varphi_{i}, \, \varphi_{i}\right) d\mu(\lambda).$$

Now since the infinite sum in the right hand side of (5.6) converges absolutely, by the dominated convergence theorem:

$$(5.7) \int tr \left(\int_{\Gamma} \pi_{\lambda} (S_{\alpha} f) d\alpha \pi_{\lambda} (g)^{*} \right) d\mu(\lambda)$$

$$= \int_{\Gamma} tr (\pi_{\lambda} (S_{\alpha} f) \pi_{\lambda} (g)^{*}) d\alpha d\mu(\lambda)$$

$$= \int_{\Gamma} \int_{\mathbb{R} - \{0\}} tr (\pi_{\lambda} (S_{\alpha} f) \pi_{\lambda} (g)^{*}) d\mu(\lambda) d\alpha = \int_{\Gamma} (S_{\alpha} f, g) d\alpha$$

$$= \left(\int_{\Gamma} S_{\alpha} f d\alpha, g \right) = \int tr \left(\pi_{\lambda} \left(\int_{\Gamma} S_{\alpha} f d\alpha \right) \pi_{\lambda} (g)^{*} \right) d\mu(\lambda).$$

Since g is arbitrary, (3.5) implies

$$\int_{\Gamma} \pi_{\lambda}(S_{\alpha} f) d\alpha = \pi_{\lambda} \left(\int_{\Gamma} S_{\alpha} f d\alpha \right)$$

for almost all λ by the Plancherel Theorem. This proves Lemma 5.5.

We may now prove Proposition 5.1. By Lemma 5.2, it suffices to show that

(5.8)
$$\pi_{\lambda}(Sf) = P_{\varepsilon_{\lambda}} \pi_{\lambda}(f) \quad \text{for} \quad \varphi \in C_{0}^{\infty}(G).$$

By Lemma 5.5 and (4.4)

(5.9)
$$\pi_{\lambda}(S f) = \int_{\Gamma} \pi_{\lambda}(S_{\alpha} f) d\alpha = \int_{\Gamma} \pi_{\varepsilon_{\lambda}}(L_{\alpha})^{-1} \pi_{\lambda}(f) d\alpha.$$

Suppose $\lambda > 0$. Then from (5.9)

$$\pi_{\lambda}(S f) = (2\pi i)^{-1} \int_{\Gamma} \pi_{1}(L_{\alpha})^{-1} \pi_{\lambda}(f) d\alpha = (2\pi i)^{-1} \int_{\Gamma} (\pi_{1}(L) - \alpha)^{-1} \pi_{\lambda}(f) d\alpha.$$

Since zero is an isolated point of the spectrum of $\pi_1(L)$ by [5],

$$(2\pi i)^{-1} \int_{\Gamma} (\pi_1(L) - \alpha)^{-1} d\alpha = P_1.$$

A similar argument holds for $\lambda < 0$. Hence (5.8) is proved.

$$4^{e}$$
 série – tome 15 – 1982 – $n^{o}3$

6. Analyticity

In this part we complete the proof of Theorem 1.1 by proving.

- (6.1) THEOREM. The operators K and S constructed above preserve local analyticity.
- (6.2) Lemma. Let $u_{\alpha} = K_{\alpha} f$, $f \in C_0^{\infty}(G)$. Suppose that for any bounded open set U_0 in which f is real analytic and any V_0 with compact closure in U_0 there exists a constant C such that

(6.3)
$$\sup_{x \in V_0} |D^{\gamma} u_{\alpha}(x)| \leq C^{|\gamma|+1} |\gamma|!$$

for all multi-indices γ and all $|\alpha| = \varepsilon$. Then K and Π preserve local analyticity.

Proof. – Suppose f is analytic in U_0 . Then since $L_{\alpha} K_{\alpha} f = L_{\alpha} (f * k_{\alpha}) = f$,

$$\sup_{x \in V_0} |D^{\gamma}(K_{\alpha}f)(x)| \leq C^{|\gamma|+1} |\gamma|!$$

and hence

$$\sup_{x \in V_0} |D^{\gamma} \int_{\Gamma} \alpha^{-1} K_{\alpha} f \, d\alpha| \leq \int_{\Gamma} |\alpha|^{-1} \sup_{x \in V_0} |D^{\gamma}(K_{\alpha} f)(x)| \, d\alpha \leq C' C^{|\gamma|+1} |\gamma|!$$

Hence K f is analytic in V_0 . The proof for Π is the same.

We shall now prove (6.3). For this we shall need the maximal estimate

$$(6.4) || X_{i_1} X_{i_2} \dots X_{i_d} v ||_{L^2} \le C(|| L_{\alpha} v ||_{L^2} + || v ||_{L^2})$$

for all $v \in C_0^{\infty}(U_0)$, some constant C, which may be chosen independent of α , $|\alpha| = \epsilon$. For each fixed α , $|\alpha|$ small but nonzero, the estimate (6.4) follows from the hypoellipticity [6] of L_{α} and is clearly preserved under sufficiently small changes in α on the circle $|\alpha| = \epsilon$. Hence (6.4) follows by compactness for some C independent of α .

7. Proof of the uniform estimates on high derivatives

To demonstrate local bounds of the form:

$$|\mathbf{D}^{\beta} u_{\alpha}(x)| \leq C^{|\beta|+1} \beta! \quad \forall \beta, x \in V_0$$

it is sufficient to obtain analogous L² bounds:

$$\| D^{\beta} u_{\alpha} \|_{L^{2}(V_{1})} \le C_{1}^{|\beta|+1} |\beta|!$$
 with $V_{0} \subset \subset V_{1}$

and, as Nelson has shown, we may use the vector fields X_i and T instead of ordinary partial derivatives. Thus we write $X_1 = X_{i_1} X_{i_2} ... X_{i_{|I|}}$ (or $X^{|I|}$, abusively, for short) and shall show the bounds

$$\|X_{\mathbf{I}} \mathbf{T}^{b} u_{\alpha}\|_{\mathbf{I}^{2}(\mathbf{V})} \leq C_{2}^{|\mathbf{I}|+b+1}(|\mathbf{I}|+b)!$$

for all I and b, uniformly in α for $|\alpha| = \varepsilon$. Equivalently, we show:

(7.1)
$$||X_{\mathbf{I}} \mathbf{T}^b u_{\alpha}||_{\mathbf{L}^2(\mathbf{V}_1)} \leq C_3^{|\mathbf{I}|+b+1} \mathbf{N}^{|\mathbf{I}|+b}$$

uniformly in α , $|\alpha| = \varepsilon$, N, I and b subject to $|I| + b \le N$, since Stirling's formula yields

$$N^N \leq C_4^N N!$$

What follows is an extension of [16], but we feel much easier to read, to $d \ge 2$ with attention given to the dependence of all estimates on α .

Clearly [see the a priori estimate (6.4)], estimating T derivatives is harder than estimating X derivatives, though one cannot, it appears, do one without the other. To use (6.4) effectively, we should at each stage try to retain at least d X's in our expressions, and yet this is no limitation, since high, pure T derivatives can yield the required X's by use of the commutation relations between the X's (d/2 times) and it is easy to see that if one has the desired bounds for $|I| \ge d$, one also has them (with a different constant) for all smaller I.

To localize high T derivatives is not simple, for $[X_j, \varphi T^p]$ exhibits insufficient gain in p (at most a gain of 1/2 power, while a whole derivative lands on the localizing function). One could repeatedly replace X derivatives consumed in this fashion, but to do so would eventually transfer the p T-derivatives into derivatives of order 2p on φ , and this will not yield analyticity.

To overcome this obstacle, we introduce a rather complicated (looking) localization of T^p , i. e., a differential operator of order p, equal to T^p in any open set where $\varphi = 1$ and zero outside the support of φ . First, however, we must pick a new basis for \mathscr{G}_1 . An analytic change of coordinates allows us to pick the basis:

$$X_{j} = X'_{j} = \partial/\partial x_{j}, \qquad j \leq n,$$

$$X_{j+n} = X''_{j} = \partial/\partial y_{j} + x_{j} \partial/\partial t, \qquad j \leq n,$$

$$T = \partial/\partial t,$$

where the X_j still generate \mathcal{G}_1 , and T generates \mathcal{G}_2 .

(7.2) Definition. – Let the X_j , T be defined as above. Then let:

$$(T^p)_{\varphi} = T^p_{\varphi} = \sum_{r=|\beta+\gamma| \leq p} \frac{(-1)^{|\beta|}}{\beta ! \gamma !} (X'^{\beta} X''^{\gamma} \varphi) X'^{\gamma} X''^{\beta} T^{p-|\beta+\gamma|}.$$

 4^{e} série – tome 15 – 1982 – $n^{o}3$

(7.3) Lemma. — With T_{φ}^p defined as above, then modulo C^p terms of the form $\varphi^{(p+1)}X^p/\beta! \gamma!$ where $|\beta+\gamma|=p$,

$$\begin{split} [X_j',\ T_\phi^p] &\equiv 0, \\ [X_j'',\ T_\phi^p] &\equiv (T^{p-1})_{T\phi}\,X_j''. \end{split}$$

Proof. – From (7.2) and the obvious commutation relations $[X'_j, X''^{\beta}] = \beta_j$ terms, each $X''^{\beta - e_j}T$, where e_j is the multi-index of length one whose only non-zero entry is a 1 in the *j*th position,

$$[X'_{j}, T^{p}_{\varphi}] = \sum_{r=|\beta+\gamma| \leq p} \frac{(-1)^{|\beta|}}{\beta! \gamma!} (X'_{j}X'^{\beta}X''^{\gamma}\varphi) X'^{\gamma}X''^{\beta}T^{p-|\beta+\gamma|}$$

$$+ \sum_{r=|\beta+\gamma| \leq p} \frac{(-1)^{|\beta|}}{\beta! \gamma!} \beta_{j} (X'^{\beta}X''^{\gamma}\varphi) X'^{\gamma}X''^{\beta-e_{j}}T^{p-|\beta-e_{j}+\gamma|}.$$

Note that in the second sum, $r \ge 1$, since for r = 0, all $\beta_j = 0$. But each term in the first sum, except those with r = p, is cancelled by a term in the second; a term in the first with $\beta = \beta_0$, $\gamma = \gamma_0$ is cancelled by a term in the second when $\beta = \beta_0 + e_j$, $\gamma = \gamma_0$ unless $|\beta_0 + \gamma_0| = p$. Only terms from the first sum with r = p remain, and there are fewer than $(2n)^p$ of them.

For the second part of the Lemma, a similar cancellation takes place (with a shift of the γ index this time), the change of sign coming not from the power of -1, as it did with a shift of β , but from the observation that $[X_j'', X'^{\gamma}X''^{\beta}]$ consists of γ_j terms each $X'^{\gamma-e_j}X''^{\beta}[X_j'', X_j']$ and $[X_j'', X_j'] = -T$. The more significant difference, however, is that in the first term in (7.4) the extra X_j' sits beside the other X' derivatives on φ , with X_j'' it will be on the extreme left, while the others will sit beside φ . Thus what was literal cancellation for the first part of the Lemma will be a commutator here. To be precise:

$$\begin{split} [X''_{j}, T^{p}_{\phi}] &= \sum_{|\beta+\gamma|=p} \frac{(-1)^{|\beta|}}{\beta! \, \gamma!} (X''_{j} X'^{\beta} X''^{\gamma} \phi) \, X'^{\gamma} X''^{\beta} T^{0} \\ &+ \sum_{r=|\beta+\gamma| \leq p-1} \frac{(-1)^{|\beta|}}{\beta! \, \gamma!} (X''_{j} X'^{\beta} X''^{\gamma} \phi) \, X'^{\gamma} X''^{\beta} T^{p-|\beta+\gamma|} \\ &- \sum_{r=|\beta+\gamma| \leq p} \gamma_{j} \frac{(-1)^{|\beta|}}{\beta! \, \gamma!} (X'^{\beta} X''^{\gamma} \phi) \, X'^{\gamma-e_{j}} X''^{\beta} T^{p-|\beta+\gamma-e_{j}|} \end{split}$$

The last term may be rewritten, replacing $\gamma - e_j$ by γ , noting that this term is missing when r = 0 (since then all γ_i are zero):

$$-\sum_{r=1}^{\infty} \frac{(-1)^{|\beta|}}{\beta! \gamma!} (X'^{\beta} X''^{\gamma} \phi) X'^{\gamma} X''^{\beta} T^{p-|\beta+\gamma|}$$

so that we have:

$$\begin{split} [X_{j}'', T_{\phi}^{p}] &= \sum_{\mid \beta + \gamma \mid = p} \frac{(-1)^{\mid \beta \mid}}{\beta ! \ \gamma !} (X_{j}'' X^{\prime \beta} X^{\prime \prime \gamma} \phi) X^{\prime \gamma} X^{\prime \prime \beta} \\ &+ \sum_{r = \mid \beta + \gamma \mid \leq p - 1} \frac{(-1)^{\mid \beta \mid}}{\beta ! \ \gamma !} ([X_{j}'', X^{\prime \beta}] X^{\prime \prime \gamma} \phi) X^{\prime \gamma} X^{\prime \prime \beta} T^{p - \mid \beta + \gamma \mid} \end{split}$$

The first term above is the same type of error term as was discussed in proving the first part of the Lemma. The second term above may be written as:

$$-\sum_{r=|\beta+\gamma|=p-1} \frac{(-1)^{|\beta|}}{\beta! \gamma!} \beta_{j} (X'^{\beta-e_{j}} X''^{\gamma} T \varphi) X'^{\gamma} X''^{\beta-e_{j}} T^{p-|\gamma+\beta-e_{j}|-1} \circ X''_{j}$$

$$= \sum_{r=|\beta+\gamma|\leq p-1} \frac{(-1)^{|\beta|}}{\beta! \gamma!} (X'^{\beta} X''^{\gamma} T \varphi) X'^{\gamma} X''^{\beta} T^{p-1-|\beta+\gamma|} \circ X''_{j}$$

(replacing $\beta - e_j$ by β). But this last is nothing but $(T^{p-1})_{T_{\phi}} \circ X_j''$.

Let N be fixed for now. We nest [[log₂ N]] open sets:

$$V_1 = W_0 \subset \subset W_1 \subset \subset \ldots \subset \subset W_{\lfloor \lceil \log_2 N \rceil \rfloor} = U_0$$

(where $[\log_2 N]$ denotes the integral part of $\log_2 N$), and choose functions ψ_j , φ_j , and χ_j in $C_0^{\infty}(W_{j+1})$ with $\psi_j = 1$ near W_j , $\varphi_j = 1$ near supp ψ_j , and $\chi_j = 1$ near supp φ_j with specified bounds on their derivatives up to order $2N_j$ where

$$N_i = N/2^j$$
.

Namely, we choose the W_j in such a way that if $d = \text{dist}(V_1, U_0^{\text{comp}})$, then $d_j = \text{dist}(W_j, W_{j+1}^{\text{comp}}) = d/2^{j+1}$. Then the ψ_j , φ_j and χ_j may be chosen (cf. [16]) so that

$$|D^{\gamma}(\psi_j, \varphi_j, \operatorname{or} \chi_j)| \le (K d_j^{-1})^{|\gamma|} N_j^{|\gamma|} \quad \text{if} \quad |\gamma| \le 2 N_j$$

with K independent of N (but depending on V_1 and U_0). These families of cut-off functions are just dilations of those introduced by Ehrenpreis and used by Hörmander, Andersson, and others.

Since $\psi_0 = 1$ in $V_1 (= W_0)$, for a + b less than N_0 but a > d, we estimate

$$\left\|\,X^{a}\,T^{b}\,u_{\alpha}\,\right\|_{L^{2}\left(V_{1}\right)}\qquad\text{by}\qquad\left\|\,X^{d}\,\psi_{0}\,X^{a\,-\,d}\,T^{b}\,u_{\alpha}\,\right\|_{L^{2}}$$

and use the a priori estimate (6.4) on this. On the right there will be fewer X's:

(7.5) Proposition. — There exists a constant \tilde{C} depending on f but independent of α , $|\alpha| = \epsilon$ and N so that if $a + b \leq N_0$,

$$\|X^{a}T^{b}u_{\alpha}\|_{L^{2}(\mathbf{W}_{0})}/N_{0}^{a+b} \leq \tilde{C}^{N_{0}}(d_{0}^{-1})^{N_{0}}(1 + \underset{\substack{d'+b' \leq N_{0} \\ d' \leq d \\ b'-b \leq (a-d')/2}}{\|X^{d'}T^{b'}u_{\alpha}\|_{L^{2}(\text{supp }\psi_{0})}}/N_{0}^{d'+b'}).$$

 4^{e} série – tome 15 – 1982 – $n^{o}3$

Proof. - Using (6.4) we have

$$(7.6) \quad \|X^{d} \psi_{0} X^{a-d} T^{b} u_{\alpha}\|_{L^{2}} \leq C (\|L_{\alpha} \psi_{0} X^{a-d} T^{b} u_{\alpha}\|_{L^{2}} + \|\psi_{0} X^{a-d} T^{b} u_{\alpha}\|_{L^{2}})$$

$$\leq C (\|\psi_{0} X^{a-d} T^{b} L_{\alpha} u_{\alpha}\|_{L^{2}} + \|\psi_{0} X^{a-d} T^{b} u_{\alpha}\|_{L^{2}} + \sum_{|I|=d} (c'_{I} + c'_{I} |\alpha|) \|[X_{I}, \psi_{0} X^{a-d}] T^{b} u_{\alpha}\|_{L_{2}}).$$

Here we have written (non-uniquely)

(7.7)
$$L_{\alpha} = \sum_{|I| = d} (c'_{I} X_{I} + c''_{I} \alpha X_{I})$$

with constants c'_1 and c''_1 . Next

$$[X^d, \psi_0 X^{a-d}] = [X^d, \psi_0] X^{a-d} + \psi_0 [X^d, X^{a-d}]$$

consists of terms of the form $X^i \psi'_0 X^{a-i-1}$ (i < d, one for each i) arising from the first term on the right above and at most d times a-d terms $\psi_0 X^{a-2} T$ from the second. To avoid constantly commuting X's to the left, we note that for i < d:

$$\|X^{i}\psi_{0}X^{a-i}T^{b}u_{\alpha}\|_{L^{2}} \leq \|X^{d}\psi_{0}X^{a-d}T^{b}u_{\alpha}\|_{L^{2}} + \sum_{j=0}^{d-1} \|X^{j}\psi_{0}X^{a-j-1}T^{b}u_{\alpha}\|_{L^{2}}.$$

Thus we may generalize (7.6) to:

$$(7.8) \quad \sum_{i \leq d} \|X^{i} \psi_{0} X^{a-i} T^{b} u_{\alpha}\|_{L^{2}} \leq C (\|\psi_{0} X^{a-d} T^{b} f\|_{L^{2}}$$

$$+ \sum_{i < d} \|X^{i} \psi_{0}^{(i)} X^{a-i-1} T^{b} u_{\alpha}\|_{L^{2}} + C (a-d) \sum_{i \leq d} \|X^{i} \psi_{0} X^{a-i-2} T^{b+1} u_{\alpha}\|_{L^{2}})$$

with a new constant C (depending on d, but uniform in $|\alpha| = \varepsilon$), and now X^e may denote any X_I with $|I| \le e$.

We iterate this process (with a replaced by a-1, ψ_0 by ψ'_0 , or with a by a-2 and b by b+1) on each term which still has at least d+1 X's, [except the first term, of course, since once a term contains f(x), there is no need to iterate further]. One type of term, after a iterations, will be (bounded by)

$$C^{a}(a-d)^{k} \sum_{i \leq d} ||X^{i} \psi(x)^{k} X^{a-r-2k-i} T^{b+k} u_{\alpha}||_{L^{2}}$$

for some k, r with $a-r-2k \le d$, and there will be at most $(2d+1)^a$ such terms.

The other terms will all contain f. These, again at most $(2d)^a$ of them, will be of the form

$$C^{a}(a-d)^{k} \| \psi(S) X^{a-r-2k-d} T^{b+k} f \|_{L^{2k}}$$

In view of the bounds on derivatives of ψ_0 , and the real analyticity of f in U_0 , then, (7.8) yields

(7.9)
$$\sum_{i \leq d} \| X^{i} \psi_{0} X^{a-i} T^{b} u_{\alpha} \|_{L^{2}}$$

$$\leq C^{a} \underset{0 \leq a-2k-r=d' \leq d}{\operatorname{supremum}} a^{k} (K d_{0}^{-1})^{r} N_{0}^{r} \| X^{d'} T^{b+k} u_{\alpha} \|_{L^{2}(\operatorname{supp} \psi_{0})}$$

$$+ C^{a} \underset{2k+r \leq a-d}{\operatorname{supremum}} a^{k} (K d_{0}^{-1})^{r} N_{0}^{r} K_{f}^{a-r-k-d+b+1} (a-r-k-d+b) !$$

(The value of C, it should be clear by now, will change from estimate to estimate, but remain uniform in α , $|\alpha| = \varepsilon$ and independent of a, b and N as well as f.) This leads quickly to (7.5) since in the first term on the right in (7.9) we may observe that $a^k N_0^r N_0^{-(a+b)} \leq N_0^{r+k-a-b} \leq N_0^{-d'-b-k}$ if d' = a - r - 2k and for the second term on the right in (7.9) we use $a^k N_0^r (a - r - k - d + b)! N_0^{-a-b} \leq N_0^{k+r+a-r-d+b-a-b} \leq 1$. The strings of constants that build up, $C^a K^r$ for the first term in (7.9) and $C^a K^r K_f^{a-r-k-d+b+1}$ for the second, are both bounded by C'^{N_0} for a suitable new constant uniform in α , $|\alpha| = \varepsilon$, a, b, and N.

For d' < d, further iterations of this type will be useless in proving analyticity, since effective use of (6.4) requires essentially the presence of at least d X's. Using (7.2), however, we may continue profitably. For we have:

since $\varphi_0 = 1$ near supp ψ_0 , so $(T^{b'})_{\varphi_0} = T^{b'}$ in supp ψ_0 .

(7.11) PROPOSITION. — There exists a constant \tilde{C} depending on f but not on α , $|\alpha| = \varepsilon$ or N so that if $a + b \leq N_0$:

$$\begin{aligned} & \underset{\substack{d' \leq d \\ b' + d \leq \mathbf{N}_0 \\ 0 \leq b' - b \leq (a - d')/2}}{\|X^{d'} \, \mathbf{T}^{b'} \, u_\alpha\|_{\mathbf{L}^2(\operatorname{supp}\,\psi_0)} / \, \mathbf{N}_0^{b' + d'} \\ & \leq \tilde{\mathbf{C}}^{\mathbf{N}_0} (d_0^{-1})^{\mathbf{N}_0} (1 + \underset{\substack{a'' \leq b + d + (a - d')/2 \\ a'' \leq b + d + (a - d')/2}}{\|\mathbf{X}^{a''} \, u_\alpha\|_{\mathbf{L}^2(\operatorname{supp}\,\phi_0)} / \, \mathbf{N}_1^{a''})} \end{aligned}$$

Proof. – Since $X_k^* = -X_k$, integration by parts allows us to improve (6.4) by including terms with fewer X derivations on the left:

$$(6.4)' \qquad \sum_{d' \le d} \|X^{d'}v\|_{L^{2}} \le C(\|L_{\alpha}v\|_{L^{2}} + \|v\|_{L^{2}}), \qquad v \in C_{0}^{\infty}(U_{0}).$$

If we apply this to $v = (T^b)_{\omega_a} u_{\alpha}$, we obtain, uniformly in α ,

$$(7.12) \sum_{d' \leq d} \|X^{d'}(T^{b'})_{\varphi_0} u_{\alpha}\|_{L^{2}} \leq C (\|L_{\alpha}(T^{b'})_{\varphi_0} u_{\alpha}\|_{L^{2}} + \|(T^{b'})_{\varphi_0} u_{\alpha}\|_{L^{2}})$$

$$\leq C (\|(T^{b'})_{\varphi_0} f\|_{L^{2}} + \|[L_{\alpha}, (T^{b'})_{\varphi_0}] u_{\alpha}\|_{L^{2}} + \|(T^{b'})_{\varphi_0} u_{\alpha}\|_{L^{2}}).$$

 4^{e} série – tome 15 – 1982 – $n^{o}3$

The commutator may be expanded using Lemma (7.3) and (7.7):

$$[L_{\alpha}, (T^{b'})_{\varphi_0}] = \sum_{|I|=d} (c'_I + c''_I \alpha) [X_I, (T^{b'})_{\varphi_0}]$$

and an application of Lemma (7.3) gives:

$$[X_{1}, (T^{b'})_{\varphi_{0}}] = [X_{i_{1}} X_{i_{2}} \dots X_{i_{d}}, (T^{b'})_{\varphi_{0}}]$$

$$= \sum_{j=0}^{d-1} X_{i_{1}} \dots X_{i_{j}} [X_{i_{j+1}}, (T^{b'})_{\varphi_{0}}] X_{i_{j+2}} \dots X_{i_{d}}$$

$$= -A \sum_{j=0}^{d-1} X_{i_{1}} \dots X_{i_{j}} (T^{b'-1})_{T\varphi_{0}} X_{i_{j+1}} \dots X_{i_{d}} + C^{b'} \text{ terms } \sum_{j=0}^{d-1} X^{j} \varphi_{0}^{(b'+1)} X^{d-j-1+b'}/b' !$$

where A may be 0 or 1, depending on whether $X_{i_{j+1}}$ is an X' or an X''. We shall assume that A=1 below; when it is zero, that term just doesn't appear. Now to continue to use (6.4) or (6.4)' on the right hand side above we would have to commute all X's to the left of $(T^{b'-1})_{T\phi_0}$. This would introduce more terms of the same type, with X's on both sides. So we choose to estimate generally all divisions of the X's; i. e., we choose to estimate $\sum_{i \leq d' \leq d} ||X^i(T^{b'})_{\phi_0} X^{d'-i} u_{\alpha}||_{L^2}.$ In doing so, we first attempt to bring all X's to

the left [and then use (7.12)]—the above expansion of the bracket will yield an error which can be estimated by such a *sum* (over $i \le d'$) but with smaller b', together with terms free of T altogether and then of course the right hand side of (7.12) followed by another use of (7.13). This gives:

$$(7.14) \sum_{i \leq d' \leq d} \|X^{i}(T^{b'})_{\varphi_{0}} X^{d'-i} u_{\alpha}\|_{L^{2}} \leq C \left(\sum_{i \leq d' \leq d} \|X^{i}(T^{b'-1})_{T\varphi_{0}} X^{d'-i} u_{\alpha}\|_{L^{2}} + \|(T^{b'})_{\varphi_{0}} f\|_{L^{2}} + \|(T^{b'})_{\varphi_{0}} u_{\alpha}\|_{L^{2}} + C^{b'} \sum_{i \leq d} \|X^{j} \varphi_{0}^{(b'+1)} X^{d-j-1+b'} u_{\alpha}\|_{L^{2}} / b' !$$

We want to iterate this to reduce b' still further. But first we must handle the third term on the right. By the definition;

$$\begin{split} (T^{b'})_{\phi_0} &= (T^{b'-1})_{\phi_0} T + C^{b'} \text{ terms } (\phi_0^{(b'+1)} X^{b'}/b'!) \\ &= 2 \text{ terms } (T^{b'-1})_{\phi_0} X^2 + C^{b'} \text{ terms } (\phi_0^{(b'+1)} X^{b'}/b'!). \end{split}$$

If we (abusively) now write φ_0' for $T\varphi_0$, $X\varphi_0$, or φ_0 itself, this expansion of $(T^b)_{\varphi_0}$ allows the third term in (7.14) to be absorbed by the first and fourth terms (with a new constant):

$$(7.15) \sum_{i \leq d' \leq d} \|X^{i}(T^{b'})_{\varphi_{0}} X^{d'-i} u_{\alpha}\|_{L^{2}} \leq C \left(\sum_{i \leq d' \leq d} \|X^{i}(T^{b'-1})_{T\varphi_{0}} X^{d'-i} u_{\alpha}\|_{L^{2}} + \|(T^{b'})_{\varphi_{0}} f\|_{L^{2}} + C^{b'} \sum_{j \leq d} \|X^{j} \varphi_{0}^{(b'+1)} X^{d-j-1+b'} u_{\alpha}\|_{L^{2}} / b' ! \right)$$

Now we may iterate (7.15) by subjecting the first term on the right to (7.15) again, with b' reduced by one and φ_0 replaced by φ'_0 . After at most b' iterations, we obtain $C^{b'}$ terms, each either

(7.16)
$$C^{k} \| (T^{b'-k})_{\varphi_{0}^{(k)}} f \|_{L^{2}} \text{ or } C^{k} C^{b'} \sum_{j \leq d} \| X^{j} \varphi_{0}^{(b'+1)} X^{d-j-1+b'-k} u_{\alpha} \|_{L^{2}} / (b'-k) !$$

for some $k \leq b'$.

For the first type [in (7.16)] we have [see Definition (7.2) where we have $|\beta + \gamma| = r \le p = b' - k$]:

$$(T^{b'-k})_{\varphi_0^{(k)}} f = C^{b'-k}$$
 terms, each $\varphi_0^{(k+r)} X^r T^{b'-k-r} f/\rho$!

for some multi-index ρ with $|\rho|=r$, $r \le b'-k$. Since X derivatives of f have the same type of bounds as ordinary partial derivations,

$$|X_1 T^{b_0} f| \le K_f^{b_0 + |I| + 1} (b_0 + |I|)!$$

in a compact set (despite the coefficients in the X's) we have:

$$C^{k} \| (T^{b-k})_{\varphi_{0}^{(k)}} f \|_{L^{1}} \leq C^{b'} \sup_{k+r \leq b'} (K d_{0}^{-1})^{k+r+1} N_{0}^{k+r} K_{f}^{b'-k} (b'-k) !/r ! \leq (CKK_{f} d_{0}^{-1})^{b'+1} N_{0}^{b'}$$

[recall that $r+k \le b'$ so that $(b'-k)!/r! \le C^{b'} N_0^{b'-k-r}$ for $b' \le N_0$].

Thus we obtain, from (7.16) and the above.

$$(7.17) \quad \sum_{d' \le d} \| \mathbf{X}^d (\mathbf{T}^{b'})_{\varphi_0} \mathbf{u}_{\alpha} \|_{\mathbf{L}^2} \le (\mathbf{CKK}_f d_0^{-1})^{b'+1} \mathbf{N}_0^{b'}$$

$$+ \, {\rm C}^{b'} \sup_{k \leq b'} \, \sum_{j \leq d} \| \, {\rm X}^j \, \varphi_0^{(b'+1)} \, {\rm X}^{d-j-1+b'-k} \, u_\alpha \, \|_{{\rm L}^2} / (b'-k) \, \, !$$

To bring this last term into a clearer form we commute $\varphi_0^{(b'+1)}$ to the left and bring it out of the norm. Since $[X^j, \varphi_0^{(b'+1)}] = C^j$ terms, each $\varphi_0^{(b'+1+j')} X^{j-j'}$, $j' \leq j$ we have:

$$C^{b'} \| X^{j} \varphi_{0}^{(b'+1)} X^{d-j-1+b'-k} u_{\alpha} \|_{L^{2}/(b'-k)} !$$

$$\leq C^{d+b'} \sup_{j' \leq j} (K d_{0}^{-1})^{b'+1+j'} N_{0}^{b'+1+j'} \| X^{d-j'-1+b'-k} u_{\alpha} \|_{L^{2}(\sup \varphi_{0})} / (b'-k) !$$

$$\leq C^{N_{0}} (K d_{0}^{-1})^{N_{0}} N_{0}^{b'+d} \| X^{d-j'-1+b'-k} u_{\alpha} \|_{L^{2}(\sup \varphi_{0})} / N_{0}^{d-j'-1+b'-k}$$

since
$$N_0^{\nu+1+j'}N_0^{d-j'-1+b'-k}/N_0^{b'+d}(b'-k)! \le e^{N_0}$$
 if $b'+d \le N_0$.
Together with (7.10) and (7.17), this proves Proposition (7.11), since

 $b' - b \le (a - d')/2$ implies $d + b'(-j' - 1 - k) \le d + b + (a - d')/2$.

$$4^{e}$$
 série – tome 15 – 1982 – $n^{o}3$

Next, we once more reduce X derivatives. Actually, this could all have been done at once, as in [16], but breaking it down into three stages should render the proof more readable; this third stage is needed to reduce the total order by half. An application of (7.5) to the right hand side of (7.1!) gives:

(7.18) Proposition. — There exists a constant \tilde{C} depending on f but not on α , $|\alpha| = \varepsilon$ or N so that if $a + b \leq N_0$:

Combining (7.18) with (7.5) gives, for $a_0 + b_0 \le 2 N_0$

$$(7.19) \quad \|X^{a_0}T^{b_0}u_{\alpha}\|_{L^2(W_0)}/N_0^{a_0+b_0} \leqq \tilde{C}^{N_0}(d_0^{-1})^{3N_0}(1+\underset{a_1+b_1\leq d+(a_0+b_0)/2}{\operatorname{supremum}}\|X^{a_1}T^{b_1}u_{\alpha}\| \qquad /N_1^{a_1+b_1})$$

Actually, one calculates $a_1 + b_1 \le (2b_0 + a_0 + 3d)/4$, but $d + (a_0 + b_0)/2$ will suffice.

(7.20) Proposition. — There exists a constant \tilde{C} , depending on f but not on α , $|\alpha| = \varepsilon$ or N such that for $j \leq [[\log_2 N]]$ and for $a_i + b_i \leq 2N_i$:

$$\begin{split} \| X^{a_j} \mathbf{T}^{b_j} u_{\alpha} \|_{\mathbf{L}^2(\mathbf{W}_j)} / \mathbf{N}_j^{a_j + b_j} \\ & \leq \widetilde{\mathbf{C}}^{\mathbf{N}_j} (d_j^{-1})^{3\mathbf{N}_j} (1 + \underset{a_{j+1} + b_{j+1} \leq d + (a_j + b_j)/2}{\operatorname{supremum}} \| X^{a_{j+1}} \mathbf{T}^{b_{j+1}} u_{\alpha} \|_{\mathbf{L}^2(\mathbf{W}_{j+1})} / \mathbf{N}_{j+1}^{a_{j+1} + b_{j+1}}). \end{split}$$

Proof. – Exactly the same proof as the proof of (7.19) applies, everything starting with a_j , b_j , W_j , N_j , d_j , etc. instead of a_0 , b_0 , W_0 , N_0 , d_0 , etc.

If we now start with $a_0 + b_0 \le N$ and apply (7.20) repeatedly, we obtain:

$$\begin{split} \sup_{a_0+b_0 \leq N_0} & \| X^{a_0} \, T^{b_0} \, u_\alpha \|_{L^2(W_0)} / N_0^{a_0+b_0} \leq \tilde{C}^{N_0} (d_0^{-1})^{3N_0} (1 + \tilde{C}^{N_1} (d_1^{-1})^{3N_1} (1 + \tilde{C}^{N_2} (d_2^{-1})^{3N_2} (1 + \dots \\ & + (1 + \tilde{C}^{2d} (d_{[[\log_2 N]]}^{-1})^{3[[\log_2 N]]} \\ & \sup_{a+b < 2d+1} \| X^a \, T^b \, u_\alpha \|_{L^2(U_0)}) \dots) \\ & \leq (2 \, C)^{\sum N_j} \, \Pi (d_j^{-1})^{3N_j} \binom{1 + \operatorname{supremum}}{a+b \leq 2d+1} \| X^a \, T^b \, u_\alpha \|_{L^2(U_0)}), \end{split}$$

since $(\dots((((a_0+b_0)/2+d)/2+d)/2+d)\dots)/2+d \le 2d+1$ after $[[\log_2 N_0]]$ iterations.

Only in this last line does a supremum over α , $|\alpha| = \varepsilon$ enter. Now $\sum N_j \le 2N$ and we also have the bound:

$$\Pi (d_i^{-1})^{3N_j} \leq C^N$$

since $\Pi(2^j)^{1/2^j} \le C$. The supremum over $|\alpha| = \varepsilon$ and $a + b \le 2d$ of $||X^a T^b u_\alpha||_{L^2(U_0)}$ is easily seen to be finite in view of the uniform boundedness of the k_α (see the definition following Lemma 4.1), and this finishes the proof of (7.1).

REFERENCES

- [1] R. BEALS and P. GREINER, In preparation.
- [2] D. GELLER, Fourier Analysis on the Heisenberg Group II: Local Solvability and Homogeneous distributions (Comm. in P.D.E., Vol. 5, No 5, 1980, pp. 475-560).
- [3] R. GOODMAN, Nilpotent Lie groups: Structure and Applications to Analysis (Lecture Notes in Math., Vol. 562, Springer-Verlag, 1976).
- [4] P. GREINER, J. J. KOHN and E. M. STEIN, Necessary and Sufficient Conditions for Local Solvability of the Lewy Equation (Proc. Natl. Acad. Sc. U.S.A., Vol. 72, No. 9, 1975, pp. 3287-3289).
- [5] V. V. GRUSIN, On a Class of Hypoelliptic Operators (Math. Sb., Vol. 83, 185, 1970, No. 3, pp. 456-473);Math. U.S.S.R. Sb., Vol. 12, No. 3, 1972, pp. 458-476.
- [6] B. HELFFER and J. NOURRIGAT, Hypoellipticité pour des groupes nilpotents de rang 3 (Comm. in P.D.E., Vol. 3, 1978, pp. 643-743).
- [7] L. HORMANDER, Linear Partial Differential Operators, New York, 1969.
- [8] A. A. Kirillov, Unitary Representations of Nilpotent Lie groups, (Usp. Math. Nauk 17, 1962, pp. 57-110, Russian Math. Surveys, Vol. 17, 1962, pp. 53-104).
- [9] G. Lion, Hypoellipticité et résolubitité d'opérateurs différentiels sur des groupes nilpotents de rang 2 (C.R. Acad. Sc., Paris, T. 290, 1980, pp. 271-274).
- [10] A. Melin, Parametrix Constructions for Some Classes of Right-Invariant Differential Operators on the Heisenberg Group, (to appear).
- [11] G. MÉTIVIER, Hypoellipticité analytique sur des groupes nilpotents de rang 2 (Duke Math. J., Vol. 47, 1980, pp. 195-221).
- [12] E. NELSON, Analytic Vectors (Ann. of Math., Vol. 70, No. 3, 1959, pp. 572-615).
- [13] L. PUKANSZKY, Leçons sur les représentations des groupes; Paris, 1967.
- [14] C. ROCKLAND, Hypoellipticity on the Heisenberg Group, (Trans. Amer. Math. Soc., Vol. 240, No. 517, 1978, pp. 1-52).
- [15] L. P. ROTHSCHILD and D. S. TARTAKOFF, Inversion of Analytic Matrices and Local Solvability of Some Invariant Differential Operators on Nilpotent Lie Groups (Comm. in P.D.E. 6 (6) 1981, pp. 625-650.)
- [16] D. S. TARTAKOFF, The Local Real Analyticity of Solutions to □_b and the ∂-Neumann Problem (Acta Mathematica, Vol. 145, 1980, pp. 177-204).
- [17] D. S. TARTAKOFF, Local Analytic Hypoellipticity for □_b on Non-Degenerate Cauchy-Riemann Manifolds (Proc. Nat. Acad. Sc., U.S.A., Vol. 75, 1978, pp. 3027-3028).
- [18] F. Trèves, Analytic Hypo-Ellipticy of a Class of Pseudo-Differential Operators with Double Characteristics and Applications to the $\bar{\partial}$ -Neumann Problem (Comm. in P.D.E., Vol. 3, 1978, pp. 475-642).

(Manuscrit reçu le 28 septembre 1981 révisé le 30 avril 1982)

L. P. ROTHSCHILD
Department of Mathematics
University of Wisconsin
Madison, WI 53706
U.S.A.

U.S.A.

D. TARTAKOFF
University of Illinois
College of Liberal arts and Sciences,
Department of Mathematics,
Box 4348,
Chicago,
Illinois 60680,
U.S.A.